02/01/13
THM 415: Finance

Final Exam Answer Sheet
1. What is the difference between “Working Capital Loans” and “Transaction Loans”? (2 Points)

“Working capital loans” set up a line of credit based on an open-ended credit agreement whereby the firm has prior approval to borrow up to a set limit. On the other hand, “Transaction loans” are type of loans used to finance a specific asset. Usually, these kinds of loans, call for installment payments designed to repay the principle amount of the loan, plus interest, with fixed monthly or annual payments.

2. Feda Company is considering issuing bonds that will mature in 30 years with a 7.50 % annual coupon rate. The interest will be paid quarterly. Feda Company is hoping to get an A rating on its bonds and, if it does, the yield to maturity on similar A bonds is 6 %. However Feda Company is not sure whether the new bonds will receive an A rating. If they receive a BBB rating, the yield to maturity on similar BBB bonds is 8.50 %. What will be the price of these bonds if they receive an A or BBB rating? (2 Points)
· Bond Price (A rating) = PV (6%/4, 30*4, (1000*7.50%)/4, 1000) = $ 1,208.12.
· Bond Price (BBB rating) = PV (8.50%/4, 30*4, (1000*7.50%)/4, 1000) = $ 891.79.

3. Veysel’s Company’s bonds mature in 10 years time and promise to pay 4.75 % coupon interest semi-annually. Suppose you purchase the bonds for $ 875.45.

a) What is Veysel Company’s promised yield to maturity? (1 Point)
· Promised Yield to Maturity = Rate (10 * 2, (1000 * 4.75 %) / 2, -875.45, 1000) = 3.23 %.

Since this promised rate is a semi-annual rate, the promised yield to maturity shall be 3.23 % * 2 = 6.46 %.
b) Assume there is a 25 % probability of default on this bond and if the bond defaults, the bondholders will receive only 70 % of the principal and interest owed. What is the expected yield to maturity on this bond? (2 Points)
In case of default, I will get only 70 % of the principle (i.e. 70 % * 1,000 = $ 700) and 70 % of the payment (i.e. 70 % * (1,000 * 4.75 %) / 2 = $ 16.625). Therefore, Yield to Maturity Default = Rate (10 * 2, 16.625, -875.45, 700) * 2 = 0.99% * 2 = 1.98 %.

· Expected Yield to Maturity = (75 % * 6.46 %) + (25 % * 1.98 %) = 5.34 %.

4. What is the current yield on a bond with a 9 % coupon rate, a par value of $ 1,000, and a market price of $ 775? (2 Points)
Par Value = $ 1,000; Coupon Interest Rate = 9 %; Market Price = $ 775.
· Current Yield = (1,000 * 9 %) / (775) * 100 = (90 / 775) * 100 = 11.61 %.

5. Sulejmani preferred stock has dividend rate is 10 % and a par value of $ 100. Suppose, furthermore, that the appropriate market required yield for a stock of this risk level is 7 %.
a) What is the value of Sulejmani preferred stock? (1 point)

Dividend rate = 10%; Par value = $ 100; Required Yield = 7 %.

· Sulejmani preferred stock = (100 * 10 %) / 7 % = 10 / 7 % = $ 142.86.

b) If this very stock is traded currently at a market price of $ 150. Would you buy the stock? Why? Why not? (2 Points)

Since the fair price of Sulejmani preferred stock is $ 142.86; $ 7.14 less than its market price, this very stock is overpriced and hence shall not be bought.
c) What is the value of Sulejmani preferred stock after 10 years assuming that the market required yield for a stock of this level remains the same as in part a)? (1 Point)

After 10 years, the value of the preferred stock will be the same (i.e. $ 142.86).
6. Assume the following:

· The investor’s required rate of return is 18 %.

· The expected level of earnings at the end of this year (E1) is $ 25.75.

· The retention ratio is 60 %.

· The return on equity (ROE) is 17 %
· Similar shares of stocks sell at multiples of 20 times earnings per share.

a) Determine the expected growth rates of dividends. (1 Point)
· Expected Growth Rates of Dividends = Retention Ratio * ROE = 0.60 * 0.17 = 10.20 %.
b) Determine the price earnings ratio (P/E1). (1 Point)
· Price Earnings Ratio = (25.75 * (1 - 0.60) / 25.75) / (0.18 – ((1 – 0.40) * 0.17)) = 5.13
c) What is the stock price using the P/E ratio valuation method? (1 Point)
· Stock Price (using the P/E ratio valuation method) = 5.13 * 25.75 = $ 132.05.
d) What is the stock price using the dividend discount model? (1 Point)
· Stock Price (using the dividend discount model) = (25.75 * (1 – 0.60)) / (0.18 – 0.102) =   $ 132.05.

e) What would happen to the dividend and stock price if the company increased its retention ratio to 80 % (holding all else constant)? What would happen to the dividend and stock price if the company decreased its retention ratio to 40 %? (2 Points)
· If the company were to increase its retention ratio to 80 %, then its P/E ratio would rise. Given the same earnings of $ 25.75, we would have a dividend of $ 25.75 * (1 – 0.80) = $ 5.15. Thus price would be (5.15) / (0.18 – (0.80 * 0.17)) = $ 117.05.
· If the company were to decrease its retention ratio to 40 %, then its P/E ratio would fall. Given the same earnings of $ 25.75, we would have a dividend of $ 25.75 * (1 – 0.40) = $ 15.45. Thus price would be 15.45 / (0.18 – (0.40 * 0.17)) = $ 137.95.
7. “NYSE is a primary stock market” Do you agree with this statement? Why? Why not? (2 points)
I don’t agree with the above statement. In fact, New York Stock Exchange (NYSE) is an organized stock market where buyers and sellers come together to trade their stocks, hence, is a secondary market.

8. BJK1461 Company is considering two mutual exclusive investments. The projects’ expected net cash flows are as follows:
	
	Expected Net Cash Flows

	Year
	Project A
	Project B

	
	
	

	0
	($570)
	($410)

	1
	($115)
	$140 

	2
	$35 
	$145 

	3
	$210 
	$150 

	4
	$360 
	$155 

	5
	$385 
	$160 

	6
	($95)
	$165 

	7
	$140 
	 

	8
	$150 
	 

	9
	$185 
	 

	10
	$225 
	 


a) What is the Net Present Value of Project A and Project B at an appropriate discount rate of 11 %? (1 Point)
· NPV (Project A) = NPV (11%, -115, 35, 210, 360, 385,-95,140, 150, 185, 225) – 570 = $ 207.27.

· NPV (Project B) = NPV (11%, 140, 145, 150, 155, 160, 165) – 410 = $ 228.76.

b) What is the Equivalent Annual Cost of Project A and B? (1 Point)
· EAC (Project A) = PMT (11%, 10,-207.27, 0) = $ 35.19.

· EAC (Project B) = PMT (11%, 6,-228.76, 0) = $ 54.07.

c) What are IRR for Project A and B? (1 Point)

· IRR (Project A) = IRR (- 570, -115, 35, 210, 360, 385,-95,140, 150, 185, 225) = 17.01 %.

· IRR (Project B) = IRR (-410,140, 145, 150, 155, 160, 165) = 28.13 %.

d) What are MIRR for Project A and B? (2 Points)

· MIRR (Project A) = IRR (- 724.39, 0, 35, 210, 360, 385, 0,140, 150, 185, 225) = 16.41 %.

· MIRR (Project B) = IRR (-410,140, 145, 150, 155, 160, 165) = 28.13 %.
e) Which project should be chosen? Why? (2 Points)
Since Project A and B are revenue generating projects, I should chose the project with the highest Equivalent Annual Cost. Therefore, Project B shall be chosen.
9. Jumming Corporation is considering two mutually exclusive investments. The projects’ expected net cash flows are as follows:

	
	Expected Net Cash Flows

	Year
	Project A
	Project B

	
	
	

	0
	($150,000)
	($225,000)

	1
	$50,600 
	$101,200 

	2
	$75,800 
	$151,600 

	3
	$90,000 
	$200,000 

	4
	$100,000 
	$215,000 

	5
	($20,000)
	($50,000)

	6
	$40,000 
	$60,000 

	7
	$55,000 
	$11,000 


a) Calculate each project’s IRR and MIRR. Assume that appropriate discount rate is 8 %. (2 Points)

· IRR (Project A) = IRR (-150000, 50600, 75800, 90000, 100000, -20000, 40000, 55000) = 36.55 %.

· IRR (Project B) = IRR (-225000, 101200, 151600, 200000, 215000, -50000, 60000, 11000) = 53.07 %.

· MIRR (Project A) = IRR (-163611.66, 50600, 75800, 90000, 100000, 0, 40000, 55000) = 33.64 %.

· MIRR (Project B) = IRR (-259029.16, 101200, 151600, 200000, 215000, 0, 60000, 11000) = 45.99 %.

b) If the discount rate is 22 %, which project should Jumming Corporation select? If discount rate were 16 %, what would be the proper choice? If discount rate were 30 %, what would be the proper choice? (3 Points)
· NPV (Project A) 22 % = NPV (22%, 50600, 75800, 90000, 100000, -20000, 40000, 55000) – 150000 = $ 55,509.62.
· NPV (Project B) 22 % = NPV (22%, 101200, 151600, 200000, 215000, -50000, 60000, 11000) – 225000 = $ 169,428.54.
→ If the discount rate is 22 %, then Jumming Corporation shall select project B.

· NPV (Project A) 16 % = NPV (16%, 50600, 75800, 90000, 100000, -20000, 40000, 55000) – 150000 = $ 89,196.79.
· NPV (Project B) 16 % = NPV (16%, 101200, 151600, 200000, 215000, -50000, 60000, 11000) – 225000 = $ 226,492.01.
→ If the discount rate is 16 %, then Jumming Corporation shall select project B.

· NPV (Project A) 30 % = NPV (30%, 50600, 75800, 90000, 100000, -20000, 40000, 55000) – 150000 = $ 21,418.49.

· NPV (Project B) 30 % = NPV (30%, 101200, 151600, 200000, 215000, -50000, 60000, 11000) – 225000 = $ 109,578.15.

→ If the discount rate is 30 %, then Jumming Corporation shall select project B.
c) Calculate the payback period and discounted payback period for each project. (2 Points)
· Payback Period (Project A) = 2.26 Years.

· Payback Period (Project B) = 1.82 Years.

· Discounted Payback Period (Project A) = 2.53 Years.

· Discounted Payback Period (Project B) = 2.01 Years.

d) At what discount rate do NPV’s for Project A and B equate? (2 Points)
· The Net Present Values of Project A and Project B equate at a discount rate of 85.25 %.

10. Le Piment Rouge restaurant, a firm in the 30 % marginal tax bracket with a 12 % required rate of return or discount rate, is considering a new project. Due to increasing request for a seat at the restaurant, along with the fact that the seating capacity is limited (only 60 seats), management is planning to increase capacity by an additional 25 seats. Le Piment Rouge restaurant board of directors are willing to finance the project only if they get enough evidence that it will be feasible within a maximum of 5 years period. That’s why management estimated the following bits of information for the same period in question:

· Cost of added capacity (including equipment, materials and construction): 275,000 TL
· Shipping and installation costs: 25,000
	Year
	Covers Sold

	1
	1,850

	2
	1,900

	3
	1,975

	4
	2,100

	5
	2,200


· Sales price per cover: 80 TL in year 1; An increase  of 15 % for the remaining years (i.e. 1 to 5)
· Variable cost per cover: 25 TL in year 1; An increase of 8 % for the remaining years (i.e. 1 to 5)
· Annual fixed costs: 35,000 TL
· Working capital requirements: There will be an initial working capital requirement of 10,000 TL just to get production started. For each year, the total investment in net working capital will equal 7 % of the monetary value of sales for that year. At the end of year 5, all working capital is liquidated.
· The depreciation method: Use the simple straight line method over 5 years. It is assumed that the plant and equipment will have no salvage vale after 5 years.

a) Determine the yearly net cash flows associated with the project? (3 Points)
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Unit Sales1,8501,9001,9752,1002,200

Price / Unit

80.00 TL92.00 TL105.80 TL121.67 TL139.92 TL

Revenues

148,000.00 TL174,800.00 TL208,955.00 TL255,507.00 TL307,825.10 TL

less variable costs

46,250.00 TL51,300.00 TL57,591.00 TL66,134.88 TL74,826.89 TL

less fixed annual costs

35,000.00 TL35,000.00 TL35,000.00 TL35,000.00 TL35,000.00 TL

less depreciation expense

60,000.00 TL60,000.00 TL60,000.00 TL60,000.00 TL60,000.00 TL

Net Operating Income

6,750.00 TL28,500.00 TL56,364.00 TL94,372.12 TL137,998.21 TL

less income tax

2,025.00 TL8,550.00 TL16,909.20 TL28,311.64 TL41,399.46 TL

Net Operating Profits After Taxes 

(NOPAT)

4,725.00 TL19,950.00 TL39,454.80 TL66,060.48 TL96,598.75 TL

plus depreciation expense

60,000.00 TL60,000.00 TL60,000.00 TL60,000.00 TL60,000.00 TL

Operating Cash Flow

64,725.00 TL79,950.00 TL99,454.80 TL126,060.48 TL156,598.75 TL

less capital expenditurs300,000.00 TL

less additional net operating working capital10,000.00 TL360.00 TL1,876.00 TL2,390.85 TL3,258.64 TL(17,885TL)

FREE CASH FLOW(310,000TL)64,365.00 TL78,074.00 TL97,063.95 TL122,801.84 TL174,484.24 TL


b) Determine the project’s Net Present Value? (1 Point)

· NPV (12%, 64365, 78074, 97063.95, 122801.84, 174484.24) – 310000 = 55,846.90 TL.
c) Calculate the discounted payback period. (1 Point)
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0(310,000.00TL)(310,000.00TL)(310,000.00TL)

164,365.00 TL57,468.75 TL(252,531.25TL)

278,074.00 TL62,240.11 TL(190,291.14TL)

397,063.95 TL69,088.20 TL(121,202.93TL)

4122,801.84 TL78,042.79 TL(43,160.14TL)

5174,484.24 TL99,007.04 TL55,846.90 TL


Looking at the above table, the discounted payback period should be the fraction corresponding to (43,160.14 / 99,007.04) above 4 or 4.44 Years.

d) Calculate the Internal Rate of Return of the project? (1 Point)

· IRR (-310000, 64365, 78074, 97063.95, 122801.84, 174484.24) = 17.92 %.
e) Shall the project be undertaken? Why? Why not? (2 Points)

Since:

· NPV of the project is positive

·  This a conventional revenue generating project for which IRR (17.92 %) is greater than the discounting rate (12 %)

· The discounted payback period (4.44 years) is less than the maximum period determined by Le Piment Rouge Board of Directors (5 Years)

→ project shall be accepted.
Good Luck
3
1

